—RBF RE 58 7H (B EHa—-F
1 AN Z (TeamBLH L) 64 76(1) 9 /N BB E(F—LE)
11:30 11:30
2 FHB= (dEHERE) 61 61 e 10 12 5 E B (S ZEHSIAIL)
3 EER (E2BmERM) 11E B B (TIL—RAA)
11:30 11:30
. 61 .
4 ZHER(ER—2) o | Pl = & 2 (2B2-n"-)
64 60
b EtEX—(7ZRXAETC) 6 6 13 & B (=&H43HNL)
11:30 11:30
6 EHBLE (EBA-—n-) 14 F & GE#RKFZIR)
& 2 (g8 4E r— 62 62 NN = VAN -
7 R Mg = (W& 15 H R GEWKIZIR)
N ) 11:30 — = 11:30 -
8 KHEZELE (F— L #) 6 tHEOME (F—TrxT—)
[ >—FIEf ] (1) Al #z (2) t#F50O 0t (G~4) KB BEERE JVE {#=*
(5~8) %tA EIR =B K— ERX E M4 B
— ¥ 58 78 (B higa—+
9:00 1 2 3 4 5 B/ EfL
1M & #H E(F—TRD—) 6-4 6-0 6-1 | 7-6(3) |48 o 1M1
2R BB ECT Y — )| 4-6 6-0 6-0 6-0 (3B 18  2f1
AN \
3 % &7 WA= 0-6 0-6 2-6 0-6 |OBs 48 51
AlFBIE B ®&|l(ny2q99TC)| 1-6 0-6 6-2 0-6 |1Bs 38  4f1
5li%x BT T H)| 6-7 0-6 6-0 6-0 2B 28y 3Mu
[ — FIEfR;] (1) ME& #HE
[ ABIE ] 1-2 3-4 2-5 1-3 4 -5
2-3 1-4 3-5 2 —4 1-5




